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LOGIC AND PHILOSOPHY

Full Marks : 100

Time : 3 hours

The figures in the margin indicate full marks for the questions

1. Answer the following as directed : 1x12=12

weTe fRAIAIRs o PR T faa
(a) “‘Logic is a normative science.”” Is the statement correct?

“FREe g5 S Rem 1”7 R0 wwe 2

(b) Find out the correct answer :

W% T&q0h! A Sferea
Logic is a science/an art/both.

SHREE @b e /o1 /T |

(c) Fill up the blank :
QA IR 4R/ A -

The sign of relation between subject term and predicate term

is known as
Sown oW O R ong TS R TS Peie ™
Tl I | .
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(d) State one important point of di
p t p ifference between sentence and (k) How many Pramanas are accepted in the Nydya system?

proposition.
, T TS (FEH! NI TR I -2
T T o S AT o1 SPeel o TCEy 74 |

(1) Who refuted the theory of innate ideas?

(c) How many valid moods are there in the third figure Of' ) SFES (T TGO (A Y& PRI ?
syllogism?
T TOI HZWS (I ‘{ﬁo‘ 251 ? | ‘ 2. State two utilities of using symbols in logic. 2

| SRS o8 TR 1 el Tea 4
(f) How is the figure of a syllogism determined?

TRR ST (e 4R 391 =0 2 3. Define universal proposition with suitable example. 2
| %WWWWWW{@Tﬁml S
(g) What is the name of the predicate of the conclusiop |
syllogism? | of a 4. Define figure. | 2
TR P Reaw «mehe = 72 kg kel il |
- S. i fourth figure.
(h) Under what condition, a disjunctive function becomes false? Name o valid moods o1 76 % o | i
f 5% «b1 R Fom v 7 2 ' g e 1 23y 9 A o
. ) ! 6. Reduce any one of the following sentences into proper logical form
(i) Which of the following philosophers is an empiricist? ; , St ' iti N
: PIriCist? ‘ and state the distributed term or terms in that proposition : 2x2=4
Descartes ; Leibniz ; Spinoza ; Hum | '
iz ; Spinoza ; Hume. v il TP R (A O SRS SR Feet T S
, e TR fete mem wfewreri 2 | DR D!/ CCRH! % e, SCE 9 : |
’ %3 Pooteamre ; R | (a) Most students are not hardworking.
: , Qe gy AR 7 |
(/) Who regarded mind as ‘a clean slate’? =
R T 43 5 T o ) (b) Every man is mor:;;‘
[AS T ﬂlﬂl’-ii EL) |
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16. Construct truth table for any one of the following statements and find

17.

C7/43

out whether it is tautologous, contradictory or contingent : 4

wore fil R R e @b o ot s w1 e RigRdr
T, o R w11 wRTE TNRAR, ciReh i Shie -

(a) (pvp)Dp )
(b) (pOg)-(-p--q)
(c) ~(p-q)v-q
(d) ~pvg
| Or / 9371

Write a short note on any one of the following : 4
T AT R e @b Raew o et foren
(a) Use of variables ~
54 31 #if{$] TN
(b) Truth function
O] Fele

Symbolize any two of the following propositions : 2x2=4
SR TP R AT 1 2O 91 2950 <
(a) Tt is not that Smita is not good.
X T X Pl o 1y |
(b} Either Karl Popper is a logician or he is a philosopher.
T I IR GO R 341 (o o TR |

(c) If you read hard, you will pass in the examination_

o T ST MR 41, AT Mg SR o |

( Continued )

18.

19.

20.

21.

22,

23,
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Define philosophy. State the nature of philosophy. 4
e vigE T | R T SRR A e o |

Explain any two important features of Indian philosophy.

SR ™ R e 71 gFelf (g T

Briefly explain how Locke refuted Descartes’ innate ideas.

M (ST TS YR (FCATT Ao FRRA, TIF AW I |

State four characteristics of empiricism.

LI IO BRIV BTﬁ%I Nﬁ'@l ﬁl‘*ﬂ |

Explain two features of scientific realism.

(IR ARG YO! CAPEF T 0|

Describe the nature of logic.
SFRERT oFfS Ao IZNR o |
| Or / 931

Discuss the points of difference between classical logic and symbolic
logic. | |

SIS SEREM S ST TERE TS 4 NFER S
<91 |
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24. What is symbolic logic? Describe its nature. 2+4=6
HAOINF SR 1 7 TR 23RS = ces 741 |
Or / 9331

What are the basic truth functions? Construct truth table for negative
and equivalent truth functions. , , 2+4=6

MR 7% T ¥ 6 2 AT Fom o SIS FoE IR T oI
74EC I | ‘
25. Explain three points of difference between philosophy and
metaphysics. . 6
T S SRR e 3301 RRGI =11 e 04 |
Or / 931

Explain three points of difference between philosophy and
epistemology. 6

T S BRI WErS 21 TG <Nl e 1

26. Briefly explain Berkeleyan idealism. : 6
IR SR SFofcE BT A 3+ |
Or / =31

What is realism? Discuss four characteristics of re;alism. 2+4=6

B3 R 7 eI BIRGT L ScEs 4 |
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